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BOARD DIPLOMA EXAMINATION, (C-09)
MARCH / APRIL - 2019
COMMON - III SEMESTER EXAMINATION

ENGINEERING MATHEMATICS - 11

Time : 3 Hours] [Total Marks : 80

PART - A 3x10=30

Instructions : (1) Answer ALL questions.

(2) Each question carries THREE marks.

(3) Answer should be brief and straight to the point.

1 Evaluate I(3 cosx+4sinx—5x)dx.

N

X
2  Evaluate J.e\/— dx .
X

1 1 1
- dx, dx, | ——=dx
3  Write the formula sz _ 2 sz + g2 .[ /az _2

3202 | 1 [ Contd...

WWW., manar esults. co. 1 n



C09-A-302/C09-AA-302/C09-AEI-302/C09-C-302/C09-CM-302/C09-EC-302/C09-EE-302/
C09-CH-302/C09-CHST-302/C09-1T-302/C09-M-302/C09-MET-302/C09-MNG-302/C09-
PKG-302/C09-TT-302

4  Write the formula for integration by parts.

dx
5  Evaluate J. W )

6  Find the area bounded by the curve j = x2, x-axis between x=1 and

X=3.

7 Write the formula to find mean and R.M.S. values.

: : . dy
8  Write the formula to solve linear equation £+ Py=0.

dx d
9 Solve —+—=0,
X Yy

10  Form the differential equation of family of curves y = Acosx+ Bsinx.
Where A, B are arbitrary constants.

PART - B 10x5=50

Instructions : (1) Answer any FIVE questions.
(2) Each question carries TEN marks.

(3) Answer should be comprehensive and the criterion
for valuation is the content but not the length of
the answer.

11 (i) Evaluate szexdx.
(i) Evaluate [

3+2cosx
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13 (a)
(b)
14 (a)
(b)
15 (a)
(b)
16 (a)
(b)
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Evaluate Isin8x -cos3x dx .

Evaluate Jcosz sin3 0dO.

Find the area bounded by the parabola y2 = 4qy and its latus

rectum.

T
A \sin x

Evaluate j dx
0

\/sinx +\/cosx

Find the volume of the solid obtained by revolving the ellipse

2
+ y_2 =1. About x-axis.

b

‘k
ST S

Q

Find the RM.S. value of /logx over the range x=1 to x=e.

Solve (D2 + 9)y =C0S2x.
Solve (D2 —-4D+ 4)y = eSx .

d
Solve i Z-i‘ SGCZ.
dx x X

Solve (x6 + 7y)dx+ (y6 + 7x)a’y =0,
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17 Solve L1 =2
(a) Solve R .

(b) Solve (D2 —1) y=x.

10
J 2 : :
18 Evaluate ) * using Trapezoidal rule with n=10.
0
3202 | 4 #

WWW. hnanaresul ts. co.in



